
Coordinate Geometry 
Ex. 7.1
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10 Let the point (2 , 3) and B (4,)
AB = 4-22 + ( -3)2

=x+ (- 2)2
= + 4

- J

= 22

⑮ Let the points be A(-5 , 7) and B( -1
, 3)

-

AB = +- +S(j2+ (3- 7)2
-2+ 1- y)2
= #6+ 16
= 52
= 42

⑪ Let the points be Pla , b) and 4)- a
,
- b)

pa =+2-a) + 1 - b - b)2
=#2a)2 + +28/
=Maz+ 4bz
=22+ 22)
-mI 22 +h2

2 . Let the points be A(0, 0) and B (36, 15)
AB = 5 - 02 + 15 - 02

-5+ 152
= #296+ 225
= S21

= 39

The distance between towns A and B is
39 km .
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3. Let the points be Al , 5) , B(2,3) and

(( - 2
,

-11)
Ab = 1) + (3 - 5)2

=M+ ( 2)
= FY
- 5

sc=1-2- 2)2 + ( 11- 3)2
= 42 + 7 14)2
= + 196

=2

Ac=12 - 1)2 + 1- 11 - 5)2

=F-32 + 71 6)2
= + 256

= ES
Since AB+ BC + CA

:. Points A
,
3
,
C are non-collinear

4. Let the points be A(5, -2) , B(6, 4) and
((7 ,

-2)
AB = 6 - 5)2+ G - 72332

Z #+ 62
=T+ 36

= 57

3c= E - E( + (- 2 - y)2
= + 76)2
= 36

= 57
Since AB = BC

: (5, -2) , 16 , 4) , (7, -2) are the vertices of on
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isosceles triangle.

S. The coordinates of points are A (3, 4), 3(6,7,
c(9 , 4) and D(G , 1)
AB = 16-32 + (7 -4) =35+ 32 = 79 = 18 =35

Bc =1- 6) + m - 7) =15+7 3)=-+9 = E8 = 3

<D =16 ap+ (1 -4) =F32 +73)2 = +9 = 8 = 35

DA =16 + m -1) =13 + 32 = 9 = 08 = 32

Ac= -31+ m - 4) = 0 = 56 = 6

BD =1- 02+( -7) =55+7 6)2 =5 = 6

Since AB = BC = CD = DA

and diagonal AC = diagonal BD
.. ABCD is a squall
:. Champa is correct.

60 Let the points be A(1,-2), 3/1, 0) ,271 , 2),
D( - 3,0
AB=t - +11]+ 10 - (-2))" = 22 =M+ Y = = 2E

Bc = +2 + (2 -d =X-2 +22 =#y = 5 =25

(D=*3 + +]+( -2) = 2 +72)2 = 4 =5 =2E

Da = 73(32+ 72 -o ==24 72)"===2E

ac=F=+1]2 +[21 =00+ 42 =16 = 4

BD =/3 - 1) + + 10 -0 = -y + 0
2

= 16 = y

Since AB = BC = CD = DA

and diagonal AC = diagonal BD
:. ABCD is a square

⑪ Let the points be Al-3,5) , B(3, 7) , <(0, 3),D(1 ,
- 4)

AB=3 - 73132+1 -5) = 7412 =55+ 16 =52 =213

B=No- 37+ (3 - 1) = -3+ 2 2
=M+ 4 = 13
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CD=+ o + =4 -3)=+-7)=y =50= Se

Da=Fy =+1)]2+ [S -74)]=22+9 = 8 = ES

Since ABBC CD DA

:. ABCD is a quadrilateral

⑪ Let the points be A(4 , 5) , 8(7, 6) , <(4, 3) , D(7, 2)
As =

2
+ 16 -Sk = 5 + 12=1 = Fo

f =M-7) + B- 6)= =F3 + 73)2 =v+9 = 8 = 35

CD= - up + (2-3) 2 = 32+71)2=I =No

DAH2+ 15 -22 = 15532 = 579 = 18 =35

Ac=-up + 13-5) =5+72) =m = 2

BD + 12-
2

=#5+ 74)2 = 6 = 52 = 213

Since AB= CD and BC = AD and

diagonal AC diagonal BD
.. ABCD is a parallelogram

7. Let P(, o) be equidistant from A/2, -5)
and B(-2 ,9) .

.. AP = BP

2+ G - 7s2 = x +2)]2+ 10 - 9)

squaring both sides
( -2)2 + 52 = ( +2(2 + 7- 9)2

or x2 + 4 - 4x + 25= x2 + 4+4x+ 81

or 222 -4x +29 = x2 + 4x+85

or -2 - 4x -x =4x = 85 -29

s - 8x = 56

is x=
or x =

- 7
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: P(-7, 0) is equidistant from A(2,
-5) and

Bl - 2
, 9) .

8. pl
, -3), (70, y)
PQ = 10 (rgiven)

or10-2) + [y - 73)]2 = 10

squaring both sides

82 + (y +3)2= 102

a 64 + y2+ 9 +67 = 100

or y2 + by + 73 - 100=0

or y2 + Gy - 27 =0

or y2+ 9y - 3y - 27=0

or y(y+9) -3(y +q) =0

or (y +9)(y- 3) = 0

either y-3=0 or y +9=0

or y = 3 or y =- 9

.. y = 3 or -9

9 . P(5, -3) , Q(0,1), R(x, 6)
Pa = QR (given

orMo 512+( -73)]2 =xx- 02 + (6 - 1)2

squaring both sides
->

(- 5)2+ 42 = x2 + Sh

or 25 + 16 = x2 + 25

or 41 -25 = x2

or 16 = x2

saking square root on both sides
x= 14

When x= 4
, R(4 , 6)
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P(s, -3) a( +)R 74,6)

QR= -02+ 16 - 1)==5 = M
pr51+ 16-732=92 : 81 = 52

When x= - 4
,
R(- 4, 6)

Pr =#5 7 y)] 2
+ 7- 3 - 6)2 =x+79)2 =+81 =9

ar=F-0+ 16 - 1) = +S==+25=I

10 . Let P(,y) be equidistant from A (3
, 6)

and B(-3, 4) .

Ap = BP (given
an c-32 + (-

2=x -7 3)]2+ (y - y)2

squaring both sides

x2 + 9 -x+ yz + 36 - 12y= x2+9 +Gx+ y 2 + 15 -Sy
orx + y z - Gi- 12y+ 45= x2 +yz + xx - Sy + 25
Sor (2 +y 2 - Jaa -12y + 45 - x2 -2 -6 + 8y -25 = 0

or - 12 - 4y + 20 = 0

Dividing both sides by - 4

3x+ y
- 5 = 0
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